ER27TF4A1BRE BLEHEREXSEBAORUHSE

277818 8#7E B LETHEEEFESEAORUVIETE

g & B =i AR & | #HEXK M2 B A0 % AQ = HEH

I\ ithig 6,870 7,462 14,332 5,467 2& |[WAEA 2K |RAEA| 2& |RABA 2& |RABEA

AFNHbig 3,357 3,545 6,902 2,120 I\ ithig 6,875 40 7,454 93 14,329 133 5,479 91

B &bl 5,669 5,988 11,657 3,899 Kfihigk 3,362 8 3,543 9 6,905 17 2,144 17

= B b 1,597 1,673 3,270 1,102 B g 5,688 52 5975 52 11,663 104 3,922 93

il Hhig 2,096 2,209 4,305 1,382 = Eithig 1,603 25 1,668 15 3,271 40 1,107 40

A = Hhigk 880 948 1,828 570 =t ihig 2,090 22 2,202 26 4,292 48 1,387 40

15 ihis 886 978 1,864 698 B £ ih i 878 0 943 5 1,821 5 567 5

B EH2HE 21,355 22,803 44,158 15,238 15 ihig 887 13 974 27 1,861 40 699 38
MEmLHE 21,383 160 22,759 227 44,142 387 15,305 324
&R (AT A kL) A5 1 A 26 A5 A 31 A4 5 A2
HEREXSBRAQFNAEAERZSD.
B i =1 HEH
7 SHELA (T2 4) 146 228 374 308 FR27FE7A1BRE BEHTEREEXSRADORUHEHHE(BERADH)

g B ZH | A0 B | HER

I\ ihig 6,835 7,361 14,196 5,388
AKFxhig 3,354 3,534 6,888 2,127
B Sithig 5,636 5923 11,559 3,829
EEihig 1,578 1,653 3,231 1,067
£ilfi shigh 2,068 2,176 4,244 1,347
BA = i 878 938 1,816 562
1 5 ih g 874 947 1,821 661
MEmLHE 21223 | 22532 43,755 | 14,981
¥E (R A L) A6 A 21 A 27 7




